CLASS COPY

Temperature Conversion Practice
*Convert the following temperatures as directed.

1. 10.0(C = _____ Kelvin

2. 323 K = _____ (C

3. 367 K = ______ (C

4. 200 (C = ______ K

5. 283 (C = _____ K

6. 1111 K = ______ (C

7. 25(C = ______ K

8. 373 K = _____ (C

9. 100(C = _____ K

10. 0(C = _____ K

Charles’s Law Problems

1. A gas sample at 40.0(C occupies a volume of 2.32 L.  If the temperature is raised to 75.0(C, what will the volume be, assuming the pressure remains constant?

2. A gas at 89(C occupies a volume of 0.67 L.  At what Celsius temperature will the volume increase to 1.12 L?

3. The Celsius temperature of a 3.00-L sample of gas is lowered from 80.0(C to 30.0(C.  What will be the resulting volume of this gas?

4. What is the volume of the air in a balloon that occupies 0.620 L at 25(C if the temperature is lowered to 0.00(C?

5. Calculate the decrease in temperature when 2.00 L at 20.0 °C is compressed to 1.00 L.

6. 600.0 mL of air is at 20.0 °C. What is the volume at 60.0 °C?

7. A gas occupies 900.0 mL at a temperature of 27.0 °C. What is the volume at 132.0 °C?

8. What change in volume results if 60.0 mL of gas is cooled from 33.0 °C to 5.00 °C?

9. Given 300.0 mL of a gas at 17.0 °C. What is its volume at 10.0 °C?

CLASS COPY

Temperature Conversion Practice

*Convert the following temperatures as directed.

1. 10.0(C = ___283__ Kelvin

2. 323 K = ___50__ (C

3. 367 K = ____94__ (C

4. 200 (C = ____473__ K

5. 283 (C = ____556_ K

6. 1111 K = ____838__ (C

7. 25(C = ___298___ K

8. 373 K = ____100_ (C

9. 100(C = ____373_ K

10. 0(C = ____273_ K

Charles’s Law Problems

1. A gas sample at 40.0(C occupies a volume of 2.32 L.  If the temperature is raised to 75.0(C, what will the volume be, assuming the pressure remains constant? 2.58 L
2. A gas at 89(C occupies a volume of 0.67 L.  At what Celsius temperature will the volume increase to 1.12 L? 332 ºC
3. The Celsius temperature of a 3.00-L sample of gas is lowered from 80.0(C to 30.0(C.  What will be the resulting volume of this gas? 2.58 L
4. What is the volume of the air in a balloon that occupies 0.620 L at 25(C if the temperature is lowered to 0.00(C? 0.568 L
5. Calculate the decrease in temperature when 2.00 L at 20.0 °C is compressed to 1.00 L. 146.5 K
6. 600.0 mL of air is at 20.0 °C. What is the volume at 60.0 °C? 682 mL
7. A gas occupies 900.0 mL at a temperature of 27.0 °C. What is the volume at 132.0 °C? 1215mL
8. What change in volume results if 60.0 mL of gas is cooled from 33.0 °C to 5.00 °C? 54.5 mL
9. Given 300.0 mL of a gas at 17.0 °C. What is its volume at 10.0 °C? 292.8 mL
